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1 �ê5y¯KVã [1]
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�ò5y¯KL«�

max z = Cx + Dy

s.t. Ax + Dy 6 b

x > 0

y > 0

x��ê�þ

(1.1)
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Problem 2.1. )e��ê5y¯K.
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max z = 3x1 + 2x2

s.t. x1 + x2 6 3

x1 > 0

x2 > 0

x1, x2 > 0, xi ∈ N, i = 1, 2

(2.1)
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Answer 2.1.1. ^CPX LP �ª£ã¯K:

\* Problem: p1 *\

max

z : 3 x1 + 2 x2

s.t.

a: x1 + x2 <=3

bound

x1 <=2

x2 <=2

integer

x1

x2

end

^glpk¦)(J:

G:\mydoc\my text\ï�\modeling\05sum\integerp>cat inter1.sol

Problem:

Rows: 1

Columns: 2 (2 integer, 0 binary)

Non-zeros: 2

Status: INTEGER OPTIMAL
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Objective: z = 8 (MAXimum) 8 (LP)

No. Row name Activity Lower bound Upper bound

------ ------------ ------------- ------------- -------------

1 a 3 3

No. Column name Activity Lower bound Upper bound

------ ------------ ------------- ------------- -------------

1 x1 * 2 0 2

2 x2 * 1 0 2

End of output

�`)�x1 = 2, x2 = 1, d�z����8

3 }³¯K

Problem 3.1. ,}³è�l±e���øÀJ�³ : s1, s2, . . . , s10 , ¥(½5�}³&

h, ¦o�}&¤^���"��³ �}&¤^�O©O�c1, c2, . . . , c10 �³ ÀJ7

L÷vXe��^�µ

• ½ÀJs1 Ús7 , ½ÀJs8 ;

• ÀJ
s3 ½s4 §ÒØUÀs5 §½�L5���¶

• 3s5, s6, s7, s8 ¥�õ�UÀü�§

ÁïáêÆ�.¦)"

Answer 3.1.1. ^MathProg�ó£ã¯K.

set N:= 1..10;

/* ê|c��z�}³��d */

param c{N};

/* cost */

/* 01Cþ s[i] L«´ÄÀ�ù�}³ */

var s{N} binary;

/* 8I �d�� */

minimize cost: sum{i in N} c[i] * s[i];

/* �å, À�5�}³*/

/* T0 */

s.t. all5: sum{i in N} s[i] = 5;
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/* �oÀ1Ú7, �oÀ8 */

/* T1 */

s.t. s1e7: s[1]-s[7] = 0;

s.t. s1or8: s[1]+s[8] = 1;

/* 3,4 ØU�5ÓÀ */

/* T2 */

s.t. s3n5: s[3] + s[5], <= 1;

s.t. s4n5: s[4] + s[5], <= 1;

/* 5,6,7,8, �õÀü� */

/* T3 */

s.t. bin5678: s[5] + s[6] + s[7] + s[8] , <=2 ;

solve;

/* printf{i in N} "c[%d] = %g\n",i, c[i]; */

printf "minimize cost = %g\n", cost;

for{i in N: s[i] =1}

{

printf "s[%d]\t", i;

}

data;

/* �d�êâ */

param :c:=

1 1

2 5

3 6

4 9

5 12

6 8

7 1

8 6

9 4

10 3

;

end;

ùp�BÀ
10�ÿÁêâ�Lz�³��d. ^glpk )�(��ÑÑ¡ä):
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...

minimize cost = 14

s[1] s[2] s[7] s[9] s[10]

...

=��o�d�14, Às1, s2, s7, s9, s10 ùÊ�³.
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